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Answer five questions, taking one from each unit.

UNITH
1. (&) Definecomputer network. Writefour applicationsof computer
network. 1+4=5
(b) Explaintheclassification of computer network based on area
covered. 9

2. (d) Whatisanetwork topology?List and explain any two network

topologies. 1+6=7
(b) What are network models? Compare the OSI model withthe
TCP/IIPmodél. 1+6=7
UNITHI
3. () Definedatacommunication. What arethe characteristicsof data
communication? 1+3=4
(b) Differentiatebetweenanaloganddigita sgnds. 4

(c) What isthepurposeof using multiplexing technique? Explain
frequency-division multiplexing. What arethe strategiesused to deal
with mismatch datarates? 1+2+3=6

4. (a) What areswitchingtechniques?Explainthethreetypical switching
techniquesavailablefor digita traffic. 1+6=7
(b) Definetranamission media. Explainthedifferent typesof transmission
media 1+6=7



UNITHII

. (8 Whatisdigital subscriber line(DSL)?Wheat areitsfeatures? 1+4=5
(b) Writedown the usesof computer network for home application and

mobileusers. 4
(c) Briefly explainthefollowinggivenbeow: 1x5=5
(i) Switch (i) Bridge
(ii) Gateway (iv) Router
(v) Frewdl
. (8 Whatisadid-up modem?Withthehelp of adiagram explainthe
function of amodemin dial-up modem. 1+4=5
(b) What isethernet LAN?Explain any onetypeof ethernet LAN.
1+3=4
(c) Explaintheterm 1P addressing. Changethefollowing IPaddresses
from binary to dotted-decimal notation: 1+4=5

() 01111111 1111000001100111 11111001
(i) 10101111 11000111 11111000 00011101
(i) 11011111 10110000 00011111 01011101
(iv) 11100000 11110111 11000111 01111101

UNITHV
. (8 Whatisthetransport layer?Writefive differencesbetween TCPand
UDP. 1+5=6
(b) Withthehelp of adiagram, explain thethree-way handshake process
of connection establishment inthetransport layer. 8
. (@ Writefour functionsof the gpplication layer. Explain any two
protocolsused inthe application layer. 4+6=10
(b) Why isDNSimportant? Explain theworking of DNS. 1+3=4
UNIT-V
. (@ WhatisHTTP?Withthehelp of adiagram, explainthebasic
architectureof HTTPR. 1+7=8

(b) WhatisWWW?How doesit work?What arethethree
componentsof WWW? 1+2+3=6



10. (a) Defineemail. What arethe advantagesand disadvantagesof using
emall? 1+5=6
(b) What isURL?Explainthevariouscomponentsof URL. 1+7=8




